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Test 1

Part A Short Conversation
Directions: In part A,you will hear ten short conversations between two speakers. At the

end of each conversation, a third voice will ask a question about what was said. After you
hear a conversation and the question about it, read the four possible answers in your pa-
per, and decide which one is the best answer to the question you have heard.

( J1. A. 3 years old. B. 5 years old.
C. 6 years old. D. 2 years old. H
( 2. A. 8§ 29.19 B. $ 29.99
C. 825 D. $50 %
( )3. A. Broad Street B. men’s room
C. the clock tower D. the post office
( )4. A. outside the office B. in the office
C. in the office and in the hall D. in the classroom
( )5. A. She is the man’s brother. B. She is the man's wife.
C. She is the man’s neighbour. D. She is the man’s daughter.
( )6. A. 7:00 B. 8:00 a.m.
C. 8:00p.m. D. 7:30p.m.
( )7. A. Both people are operators. B. The man is getting close to Tom.
C. The man is making a call to Tom. D. They are both very busy.
( )8. A. Next April. B. In two years.
C. Next May. D. This May.
( )9. A. To a bank. B. To a department store.
C. To a grocery store. D. To a shoe store.
( )J10.A. In a hotel. C. At a bank.
B. In a manager’s office. D. In a supermarket.

Part B Longer Conversations

Directions: In Part B, you will hear two longer conversations. After each conversation,
you will be asked two questions. The conversations will be read twice, but the questions
will only be spoken once. When you hear a question, read the four possible answers in
your paper and decide which one would be the best answer to the question you have
heard.

Questions 11 and 12 are based on the following conversation.
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( J11.A. On the beach near her home.
B. On the ship at sea.
C. In another country with her friends.
] D. At the seaside far from her home.
- ( )12.A. They will go to the river to boat.
B. They will go to the river to have a swim.
C. They will go to the sea to bathe.
D. They will go to the beach to play games.
- Questions 13 and 14 are based on the following conversation.
( )13.A. From a friend. B. From the town newspaper.

C. From the blackboard. D. From the school newspaper.
( 114 .A. Today. B. In April.
C. Next semester. D. No one knows for sure.

3| Part C Passages
Directions: In part C, you will hear two short passages, and you will be asked three
%  questions on each of the passages. The passages will be read twice but the questions will
only be spoken once. When you hear a question, read the four possible answers in your
paper and decide which one would be the best answer to the question you have heard.
. Questions 15 through 17 are based on the following passages.
C( J15.A. She went to a ¢hurch. B. She went to a restaurant.
C. She went to the cottage. D. She went to the hospital .
( )16 A, Because he was a young doctor.
B. Because he knew nobody.
C. Because he come hers not long ago.
D'. Because he never went to see the doctor.
( J17.A. Are you very old?
B. How are you?
C. Could you tell me how old you are?
D. Are you badly il1?
Questions 18 through 20 are based on the following passage.
( J18.A. It wast like a small house. B. It was quite bright.
C. Very dark. - D. It looked like a toy.
( )19 .A. He was looking for his key. :
B. He was looking for a ladder.
C. He was looking for one of his friends.

D. His lost ring.
( }20.A. Many of his friends. - B. One of his friends.
C. Mike's father. D. No one.
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Test 2

Part A Short Conversation

Directions: In part A, you will hear ten short conversations between two speakers. At the
end of each conversation, a third voice will ask a question about what was said. After you
hear a conversation and the question about it, read the four possible answers in your pa-
per, and decide which one is the best answer to the question you have heard.

( )J1. A, The man.

C. Their mother.
( )2. A. Both of them,
C. The man.
( )3. A. 4.5 pounds.
C. 16 pounds.
( )4. A. In a department store.
C. In a stationary store.
( )5. A. At an airport.
C. At & tickets agency.
( )6. A. A repairman.
C. A salesman.
( }7. A. A policeman.
C. A surgeon.
( 8. A. A lawyer.
C. A carpenter.
( )9. A. He made a mistake.
C. He passed away.
()04
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. The woman.

. Cathy.

. Rose.

. The woman.

. 8 pounds.

. 9 pounds.

. In a drugstore.

. In a bookstore,

. At a booking office.
. At a post office.

. A taxi driver.

. A car dealer.

. A Customs officer.
. A lawyer.

. A doctor.:

. A salesman.

. He missed the bus.
. He missed the plane.
. They both feel sorry to turn off the light.

. One of them doesn’t mind sitting in the dark.

. They don’t like to sleep with the light on.

D. They both enjoy working without the light on.

Part B Longer Conversations

Directions: In Part B, you will hear two longer conversations. After each conversation,
you will be asked two questions. The conversations will be read twice, but the questions
will only be spoken once. When you hear a question, read the four possible answers in
your paper and decide which one would be the best answer to the question you have
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i heard.

( JI1A.
C.
( JI2.A.
C.

Questions 11 and 12 are based on the following conversation.

Four hours more. B. About three hours.

Another five hours. D. More than four hours.

On the right arm of the chair. B. On the left arm of the chair.
On the back of the front chair. D. On the right leg of the chair.

Questions 13 and 14 are based on the following conversation.

( J13. A. He grows cabbages, tomatoes, and other things like that, and he grows
more wheat than vegetables.
B. He grows potatoes, cauliflower, and other things like that, and he grows
more rice than vegetables.
C. He grows potataes, cabbages, and other things like that, and he grows more
. wheat than rice.
D. He grows potatoes, cabbages, and other things like that, and he grows more
wheat than vegetables.
( J14.A. In 1938, B. In 1948.
C. In 1928. D. In 1958.
Part C Passages '

+ Directions: In part C,vou will hear two short passages, and you will be asked three ques-

! tions on each of the passages. The passages will be read twice but the questions will only
bespoken once, Wher you hear a question, read the four possible answers in your paper
and decide which one would be the best answer to the question you have heard .
Questions 15 through 17 are based on the following passage.

( Y15.A.
C.
( )16.A.

( J17.A.

He studied English. B. He studied history.
He studied mathematics. D. He studied physics.
Because he hadn't enough money to continue his studies.

. Because he didn’t like the university.
. Because he hadn’t passed the examinations.
. Because he had been ill in bed for a long time.

He thought his son was a bad boy.

. He thought his son should leave the university.
. He thought it was impossible for his son to continue his studies at the uni-

versity .

. He thought that his son was a good boy and could pass the examinations the

next year.

Questions 18 through 20 are based on the following passage.

( JI8.A.
C.
( J19.A.

He loves sports. B. He loves his harse.
He likes shooting bears. D. He loves music very much.
He wanted to help Mr Black.

-
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B. He didn’t like Mr Black at all.
C. He wanted to borrow some money from him.
D. He wanted to make a joke with Mr Black.

( )20.A. He wrote nothing on the paper.
B. He wrote “Are you a bear ?”on the paper.
C: He wanted to kill the bear.
D. “I'm not a bear.”
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Test 3

Part A Short Conversation
Directions: In part A, you will hear ten short conversations between two speakems, At ter

end of each conversation, a third voice will ask a question about what was said. After you
# hear a conversation and the question about it, read the four possible answers in your paper,
and decide which one is the best answer to the question you have heard.

( )1. A. In a shop. B. In an office.
Wl . At home. D. In a hotel.
( 2. A. A book seller. B. An operator.
& . A stranger. D. A policewoman.
( )3. A. Paul. B. Carol.
. The woman herself. D. Somebody else.

2o }4. A. There was a gold ring for him,

. He went to see his telephone messages.

. He got a bad hurt just now.

. Somebody called him when he was out.

. Yes,becuase she would stay at the Children’s Palace.

. Yes because she will have a lecture on Wednesday afternoon.
. No, because she will do the other thing.

. No, because she had got nothing to do that afternoon.

( )6. A. Tom is going to New York.

. Tom has travelled all over the world. .
. Tom collects stamps.

. Tom is going on vacation.

@00 00WPPQg0W0DO0EO00>05

( Y7. A. Yes, it is too far to walk. B. No, it's whithin walking distance.
. No, but it is too far to walk. D. Yes, you must take a bus or a taxi.
( )8. A. In the theatre. B. In the library.
. In the cafeteria. D. At the railway station.
( )9. A. In a restaurant. C. At a hospital.
. In a bank. D. At the theatre.
( J10.A. A writer. C. A teacher.
B. A reporter. D. A student.

Part B Longer Conversation
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Directions: In Part B, you will hear two longer conversations. After each conversation,
you will be asked two questions. The conversations will be read twice, but the questions
will only be spoken once. When you hear a question, read the four possible answers in
your paper and decide which one would be the best answer to the question you have
heard .

Questions 11 and 12 are based on the following conversation.

{ J1L.A. at a meeting B. in a sports field
C. at a restaurant D. in the classroom
( J12.A. only one picture B. two pictures
C. three pictures D. many pictures
Questions 13 and 14 are based on the following conversation.
( J13.A. On Tuesday at 9. B. On Thursday at 10.
C. On Tuesday at 10. D. On Thursday at 9.
( J14.A. 28577052. B. 82750752. W
C. 82570752. D. 85270752.
Part C Passages &

Directions: In part C, you will hear two short passages,and you will be asked three ques-
tions on each of the passages. The passages will be read twice but the questions will only
be spoken once. When you hear question,read the four possible answers in your paper and ;
decide which one would be the best answer to the question you have heard. :
Questions 15 through 17 are based on the following passages.
( 715.A. He wanted to have a look at the beautiful bridge .

B. He wanted to catch some fish.

C. He stopped to fish on the bridge.

D. He stopped to watch someone fishing.
{ J16.A. He was very pleased. B. He jumped into the water.
C. He put them into the river. D. He swam into the water.
( )17.A. He threw it into the water again.
B. He got it into his basket and went home.
C. He was upset and went home,
D. He went on fishing.
Questions 18 through 20 are based on the following passage.
( J18.A. in 1879 in America . in 1897 in England
C. in 1879 in Germany D. in 1897 in France
( J19.A. a big shop B
C. a big factory D. a small factory
B
D

=

. a small shop
( )20.A. locks . shoes

C. suitcases . electrical supplies

P 7 -




Test 4

Part A Short Conversation

Directions ; In part A, you will hear ten short conversations between two speakers. At the
end of each conversation, a third voice will ask a question about what was said. After you
. hear a conversation and the question about it, read the four possible answers in your pa-
per, and decide which one is the best answer to the question you have heard.

( J1. A, 38042. B. 388042.
i C. 3888042. D. 8830042.
( )2. A. 13, B. 52,
% C. 65. D. 35.

( J3. A. 45 minutes. B. 30 minutes.
C. 15 minutes. D. 55 minutes.

( )4. A. To meet with the friend. B. To the party.
C. To the movies. D. To the meeting.

( )5. A. She hasn’t been here yet.
B. No reason for that.
C. She has some business to do in India now.
D. She has some bees in India now.

( )6. A. An English — English dictionary.
B. A pair of football boots and a shirt.
C. Both A and B.
D. A football book .

( )7. A. The man did not study.
B. The man is not nervous.
C. The woman did not study.
D. The woman is as nervous as the man.

( )8. A. On a bus. B. In a department store.
C. At a concert. D. In the street.

( )9. A. In the street. B. At a dinner table.
C. In a hotel. D. At the man’s house.

( J10.A. He is a salesman. B. He is a repaimman.
C. He is a professor. D. He is a waiter.

Part B Longer Conversations
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Directions: In Part B, you will hear two longer conversations. After each conversation,
you will be asked two questions. The conversations will be read twice, but the questions
will only be spoken once. When you hear a question, read the four possible answers in
your paper and decide which one would be the best answer to the question you have

heard .
Questions 11 and 12 are based on the following conversation.

{ J11.A. a shirt B. a coat
C. a jacket D. a pair of trousers
( YJ12.A. aellow. B. black.C. blue.D. brown.

Questions 13 and 14 are based on the following conversation.
( J13.A. He wants to borrow a ladder.
B. He wants to borrow a hammer.

C. He wants to borrow a bike.

D. He wants to borrow a car. W
( }14.A. He is painting a picture.

B. He is painting the room. %

C. He is repairing the window.

D. He is repairing the bike.
Part C Passages
Directions: In part C, you will hear two short passages, and you will be asked three
questions on each of the passages. The passages will be read twice but the questions will
only be spoken once. When you hear question, read the four possible answers in your pa-
per and decide which one would be the best answer to the question you have heard.
Questions 15 through 17 are based on the following passage.
{ J15.A. He can buy everything in the world.

B.He has three children.

C. He is very fat.

D. He doesn’t enjoy good health.
( J16.A . Eat fish for lunch.

B. Lose weight.

C. Walk before work.

D. Slow down in the office.
( M7 A. Take a walk.

B. Slow down at home.

C. Exercise at a health club.

D. Go home immediately.
Questions 18 through 20 are based on the following passage,
( J18.A. Lack of confidence. B. Lack of intelligence.

C. Carelessness. D. Absent - mindedness.

B oo
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M9.A.

To accompany his children on a train ride.

. To have a holiday with his children on the beach.
. To go and visit a friend of his in a seaside town with his children.

. To stay home and take care of his children.

Professor Rudd was an old man.

. Mrs Rudd was actually more intelligent than her husband.
. Mrs Rudd was an indispensable (|~ Al # /i) companion to her husband.
. Professor Rudd’s reputation was falling rapidly.




Test 5§

Part A Short Conversation

Directions: In part A, you will hear ten short conversations between two speakers. At the
end of each conversation, a third voice will ask a question about what was said. After you
hear a conversation and the question about it, read the four possible answers in your pa-

per, and decide which one is the best answer to the question you have heard.

( J1. A. Teaching. B. Advertising.
C. Journalism. D. Accounting. i
( )2. A. Bob happened to find a rabbit.
B. Bob got the rabbit he asked for, %
C. His parents refused to get the rabbit.
D. His parents decided to buy a rabbit later.
( )3. A. He doesn’t have enough money to buy a car,
B. He really doesn’t want to buy a car.
C. He plans to buy a car in a little while.
D. He will have enough money for a car soon.
( J4. A. Yes, he may attend it. B. Yes, he will by all means.
C. No, he can’t attend it. D. No,he doesn’t want to attend it.
( }5. A. He is borrowing some money. B. He is helping the woman.
C. He is asking the way. D. He is waiting for the woman.
( )6. A. 85 B. $10C. $15D. 811
( Y7. A. a cold night B. smoking
C. too little sleep D. a few hours of hard work
( )8. A. In a restaurant. B. At the railway station.
C. In the post office. D. At the airport.
( )9. A. In the police station. B. In a supermarket.
C. In a Customs office D. In a jewellery store.
( J10.A. lecturer. B. A reporter.
C. A visitor. D. A student

Part B Longer Conversations

Directions: In Part B, you will hear two longer conversations. After each conversation,
you will be asked two questions. The conversations will be read twice, but the questions
will only be spoken once. When you hear a question, read the four possible answers in
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your paper and decide which one would be the best answer to the question you have
heard.

Questions 11 and 12 are based on the following conversation.

( )11.A. Operator and phone maker.

B. Doctor and nurse.
C. Patient and assistant.
D. Customer and secretary.
( J12.A. At 5:30 next Wednesday.
B. At 4:00 next Wednesday.
C. At 3:30 next Wednesday.
3 D. At 5:30 on Wednesday.
Questions 13 and 14 are based on the following conversation.
( J13.A. Patience as well as imagination.

e/ B. Devotion, patience as well as talent.
C. Only by practicing a lot.
3 D. Only through perseverance.
( J14.A. To defend hie title against professional.
B. To win the championship as professional .
C. To take a hot bath and then have something to eat.
D. To consider tuming professional rather than remaining amateur.
Part C Passages :
Directions: In part C, you will hear two short passages, and you will be asked three
questions on each of the passages. The passages will be read twice but the questions will
only be spoken once. When you hear a question, read the four possible answers in your
paper and decide which one would be the best answer to the question you have heard.
Questions 15 through 17 are based on the following passages.
( Y15.A. At the age of six. B. At the age of three.
C. At the age of five. D. at the age of seven.
( }16.A. Her first Junior Grand Slam ev=nt.
B. Her first WTA champion event.
C. Her first Tennis Tournament Singles .
D. Her first Tennis Tournament Ladies Doubles.
( )17.A. She was fifteen years old.
B. She was sixteen years old.
C. She was three days younger that Lottie Dod.
D. She was no more than sixteen years old.
Questions 18 through 20 are based on the following passage.
( J18.A. There was much more disorder.
B. This time the electricity supply failed.
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